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8.909 x 1000 =

7.204 x 10 =

1.059 x 1000 =

10.336 x 1000 =

10.334 x 10 =

7.122 x 100 =

7.015 x 100 =

947 x 10 =

3.123 x 10 =

8.784 x 1000 =

1.488 x 100 =

=N

9.768 x 1000 =

8.989 x 1000 =

6.604 x 1000 =

2.829 x 100 =

9.99 x 10 =

4.224 x 10 =

5.499 x 1000 =

10.666 x 1000 =

2.46 x 100 =
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8.909 x 1000 = 8909

7.204 x 10 = 72.04

1.059 x 1000 = 1059

10.336 x 1000 = 10336

10.334 x 10 = 103.34

7.122 x 100 = 712.2

7.015 x 100 = 701.5

947 x 10 = 94.7

3.123 x 10 = 31.23

8.784 x 1000 = 8784

=LA

1.488 x 100 = 148.8

9.768 x 1000 = 9768

8.989 x 1000 = 8989

6.604 x 1000 = 6604

2.829 x 100 = 282.9

9.99 x 10 =99.9

4.224 x 10 = 42.24

5.499 x 1000 = 5499

10.666 x 1000 = 10666

2.46 x 100 = 246
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